
0dy y
dx

+ =

xdy y e
dx

+ =



2 0dy y
dx

+ =

2 xdy y e
dx

−+ =



0dy y
dx

− =

xdy y e
dx

−− =



37 2 xdy y e
dx

+ =

7 2dy y x
dx

+ =



( )dyx y sin x
dx

+ =

( )cosdy y x
dx

+ =



2dyx y x
dx

+ =

22 xdy y e
dx

−+ =



2

2 0d y y
dx

− =

2

2 5 6 0d y dy y
dx dx

+ + =



2

2 2 0d y dy y
dx dx

+ − =

2

2 4 4 0d y dy y
dx dx

+ + =



2

2 2 5 0d y dy y
dx dx

− + =

2

2 2 3 6d y dy y
dx dx

+ − =



2

2 5 3d y dy y
dx dx

− + =

( )
2

2 2sind y dy x
dx dx

− =



2

2 3 2 5 xd y dy y e
dx dx

− + =

2
2

2 6 9 xd y dy y e
dx dx

− + =



( )
2

2 5 2sind y dy y x
dx dx

− + =

2

2 2 5 xd y dy y e
dx dx

− − =



2

2 3 2 5 xd y dy y e
dx dx

− + =

2
3

2 6 9 xd y dy y e
dx dx

− + =



( )
2

2 2 2 cosd y dy y x
dx dx

+ + =

Find the exact solution if  ( ) 20,1  and ,
2 5
π 
 
 

are solutions 
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